NEY INSTANT RECALL FACTS ([KIRFS)

Aut | Aut 2 Spr | Spr 2 Sum | Sum 2
Reception I can count I can say one more I know addition I know addition and | I know doubles To 10 | I know halves to 10
forwards and and one less than a | humber bonds to I0 | subtraction bonds
backwards to 10 (20) number to 10
Year | I know humber I know fact families I know number I can count T know doubles and | I can count in Zs, 5s
bonds o 10 to 10 bonds to 20 forwards and halves of numbers and I0s
backwards to 50 1o IO.
from any given
number.
Year 2 I know humber I know humber I can recall doubles I can recall I can recall I can tell the ftime -
bonds to 20 bonds to 100 (eg. 30 and halves to 20 multiplication and multiplication and to five minutes,
+70) division facts for division facts for including quarter
the 2 and I0 x the 5 x Tables. past/to the hour
tables.
Year 3 I know dll humber | T know multiplication I know the I know multiplication | I know mulfiplication | I can tell the fime
bonds to 20 and can and division facts multiplication and and division facts and division facts to the nearest
use humber bonds for the 2,5 and 10 x division facts for for the 4 times for the 8 times minute (analogue &
to derive pairs of tables the 3 times tables tables tables digital) on 12 and 24
numbers that total hour clocks
I00 eg. 64 + 36 =100
Year 4 I can find out what I know the I know the T know the I can recognise T can multiply and
must be added to multiplication and multiplication and multiplication and decimal equivalents divide single-digit
any 2-digit number division facts for division facts for division facts for of fractions. numbers by |0 and
the Il and 1Z fimes 100.

to make 100.

The 3, 6 and9 times

Tables

The 7and Il times
tables.

fable.
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Aut | Aut 2 Spr | Spr 2 Sum | Sum 2
Reception I can count forwards | I can say one more I know addition I know addition and I know doubles to 10 I know halves to |0
and backwards to [0 and one less than a number bonds o 10 | subtraction bonds to
(20) number 10

1 1 1 1 ] 1 Multilink staircase - one more/less:
more more more more more more
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1 1 1 1 1 1
less less less less less less

Number line:

Q 1 1 1 1 1 1
more more more more more more

Twois one less than three.’ i ’
Theeals ove ioe ’ . F‘our.:s one less than five. 1
+ Five is one more than four.’ less

| I
‘ 0 1 2 3 4 5

less less less less less




Aut | Aut 2 Spr | Spr 2 Sum | Sum 2
Year | T know humber I know fact families I know number I can count I know doubles and | T can count in Zs, 5s
bonds fo 10 o0 bonds to 20 forwards and halves of numbers and l0s
backwards to 50 To 0.
from any given
number.

The concept of ‘5 and a bit" structure

A—— 6
5 ] :
'&LJJ ‘ *Six is five and one more.’
*Six is the whole; five is a part; one is a part
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ncetm.org.uk/classroom-resources/primm-1-03-composition-of-numbers-0-5/
Number Blocks
a0
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Auf | Aut 2 Spr Spr 2 Sum | Sum 2
Year 2 I know number I know number I can recall doubles I can recall I can recall I can tell the fime -
bonds to 20 bonds to 100 (eg. 30 and halves to 20 multiplication and multiplication and to five minutes,
+70) division facts for division facts for including quarter
the Z and I0 x the 5 x Tables. past/to the hour
tables.
What numbers are shown? L.O.: T can identify number bonds 10 20.
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Make the next two numbers in the pattern. %*
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Aut | Aut 2 Spr | Spr 2 Sum | Sum 2
Year 3 T know all number | T know multiplication I know the I know multiplication | T know mulfiplication | I can tell the time
bonds to 20 and can and division facts multiplication and and division facts and division facts to the nearest
use humber bonds | for the 25 and I0 x division facts for for the 4 times for the 8 times minute (analogue &
to derive pairs of tables the 3 times tables tables tables digital) on 12 and 24
numbers that total hour clocks
00 eg. 64 + 36 = 100
40 47 + 53 = 100 15
[ 605
\10 /
~50 -
o 0000 x =
+9 + 30 61 + 39 = 100 0000 + =
| | |
61 70 100
l | | | | | | | | | |
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Aut | Aut 2 Spr | Spr 2 Sum | Sum 2
Year 4 I can find out what I know the I know the I know the T can recognise I can multiply and
must be added to multiplication and multiplication and multiplication and decimal equivalents divide single-digit
any 2-digit number | division facts for the | division facts for the | division Facts for the of fractions. numbers by 10 and
+o make 100. 36 and 9 times tables | 7 and Il fimes Tables. I and 12 times table. [0O.

3133133133333 |3|3|3|3([3|3|3]3

52+ =100

9 9

o
(s
0o
(s

100

There are

52 There are

rows of 4 oranges.

Here are Annie's workings for 9 x 7

oranges in total.

O9x7=10x7 -7

X =

(elelolololele /oo
(elololofodolololo]
(ololololololololo]
(Sloolododole o]

The oranges are shared into 9 boxes. j Zg -7
There are oranges in each box.

+ = Use Annie's method to complete the number sentences.
9x3=10%x___ —-__ 9x8=10%x __ -
9x6=10%x___ —-___ 9x9=10% -

Sam is building the 12 times-table.
Eesssssnsnl N |
o e Mmoo .
messssnsnnl N | (messsnsnnnl N memsnsnnanl N |
I1x12=12 2x12 =24 I x12 =36
Use base 10 to help you complete the multiplications.
3x11 =33 12x5=___ 5x12=__ 48+12=__ 84+12=__

|

12x__ =120 » 12x_=132 —+12=8 —=9x12



Aut | Aut 2

Sum |

Sum 2

w1123 1alslel7 8l 9 l10l11]1z]| [FOO0D00[Z000000/3000000]4000,000]5000000[6000000]7000000[8000,000[4000,000 '
1{r]2[3[4|5|6]7|8]5 10]11]12 100000 [200000 [300000 [400,000 [500000 (600000 [700000 (800000 |900000 03 =i
2|2 |4|6|8|10[(12|14|16|18|20| 22|24 10
3|3|6|9]|12|15(18|21|24|27|30|33|36| [0000 |20000 |30000 |40000 |50000 60000 70000 [80000 |40,000
4|4|8|12(16|20(24|28|32|36|40 |44 |48
000  |[2000 3000  [4000  [5000  [6000  [7000  [8000  |400(
5|5 |10|15[20|25|30|35(40| 45|50 |55 |60 0_55+D=1
6|6 |12(18|24|30(36|42|48|54|60|66|72| [0  |200  |300 500  |600  |700 900
10 50 1=032+(_)
7|17 |14|21|28|35|42|49 (56|63 |70| 77|84
0 70 20 50 50 0 70 80 0 _
8|8 |16|2a]32/a0]48|56|64]7280]828]96 01+ 05 +[_]= 1
9|9 |18|27(36|45|54|63|72|81|90|99|108 \
I 7 3 ] 5 6 7 8 q
10{10|20|30|40|50|60| 70|80 |90 [100{110|120 3
11(11|22|33|44|55|66|77|88 |99 [110{121|132 = %3 %3 7
XX
12112 (243648 |60|72|84 |96 (108|120|132|144
43
. . 3
If you have twenty counters, how many different ways of arranging 5 SXS XS
them can you find? BX6X6
5 Use the place value grid to multiply 3.24 by 10, 100 and 1,000
How many factors of Thousands | Hundreds Tens Ones ¢ Tenths Hundredths
4 00000 twenty have you found by arranging ®
OO O ®O® yourcounters in different arrays? © @ 1 O @ ©
o) e®
00000
When you multiply by , you move the counters places to

the left.




Aut | Aut 2 Spr | Spr 2 Sum | Sum 2

Related Multiplication facts. 2 2 1 3lals|e
_ _ _ 32 4 1]2]|3]|a]s 7 9 [w0|n]n2

An example might be that if I know that 5 x 7 = 35, then I also know the following 2 3 34 517181910 13 )14 1511617 | 18
related facts. 12 2 123 s|lef7]s 1[12]13[14]1s 19|20 21| 22|23 24
1|2 aflale 9 [10]11]12 1617 [18]19]20| |25]|26|27|28| 2930

* 7X5=35 D 3l 7|89 13|14[1s]16| [21]22|23[24]25| |31]32]33]34]35]36

©35+5=7and35+7=35 i Mo g re
* 50 x 7 =350 and 5 x 70 = 350

«0.5x7=35and5x0.7 = 3.5 "..’ ¢

« 0.05x 7 = 0.35and 5 x 0.07 = 0.35 and 0.5 x 0.7 = 0.35, etc. ... -

For each of the multiplication facts above, there are also related division facts. ... B

Multiplying and Dividing by 10, 100 and 1000 .......

4

Lt

10000| 1000 | 100 | 10 | 1 @ =& | =t |0 @ @ .......--. p
......---- -

0.15+0.85=1 CRE R I w0 110

Multiplying Dividin 0.85+0.15=1 NN 1
XI0  dgsmovelEFT tepace | +10 gl more FIGHT 1 space IIIIIIIIIIIIII L
X100 digits move LEFT 2 spaces +100 digits move RIGHT 2 spaces 1 —_— [I . 1 5 - U _35
X 1000 digits move LEFT 3 spaces + 1000 digits move RIGHT 3 spaces . . . . . . . . . . - . . - 182

— —_ 1-0.85=0.15 = o
s m——— lllllllllllllll




